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NEW QUESTION 1
You are trying to create a custom infolet, but are not able to find the "Create Infolet" option in the
Infolet repository window. Which two steps should be completed before you can access the "Create Infolet” option?

A. You must activate Page Composer.

B. You should be on the Project Custom Objects page.

C. You must be in an active sandbox.

D. You should enable the "Create Infolet" option from the Personalize Springboard page.

Answer: D

NEW QUESTION 2
Which two statements are true about the cross-charge method, Borrowed and Lent?

A. This method creates accounting entries that move an amount equal to the transfer price between the provider and receiver organizations within a legal entity.
B. Costs or revenue are shared based on transfer price rules with this method.

C. You must set up the contract business unit to use this method.

D. This method creates a formal internal invoice.

Answer: AD

NEW QUESTION 3
Which four notification templates are predefined?

A. Password Reset Template

B. New Account Template

C. Forgot Password Template

D. Forgot Username Template

E. New Account Manager Template

Answer: ABCE

Explanation: https://docs.oracle.com/en/cloud/saas/sales/18c/oscus/setting-up-applications-security. htmi#OSCUS2287154

NEW QUESTION 4
Which three features are part of Oracle Fusion Functional Setup Manager?

A. feature opt-in for a best fit configuration

B. export and import services for setup data migration between environments

C. guided task list for end-to-end setup requirements

D. updating an implementation project task list by changing the opt-in configuration to suit the latest requirements
E. modifying an existing implementation project task list by selecting more functional areas when needed

Answer: BCD

Explanation: https://docs.oracle.com/en/cloud/saas/applications-common/r13-updatel7d/oafsm/applications- cloud-using-functional-setup-manager.pdf

NEW QUESTION 5
Which five steps are required for the File-Based Data Import Integration option?

A. Run Process to transfer data to interface tables.

B. Install an Excel add-in.

C. Upload the file to the server.

D. Download an Excel template.

E. Populate the spreadsheet with data and generate a CSV file.
F. Import data into various applications.

Answer: ABCDE

NEW QUESTION 6
Which two attributes are available while enabling a task as a business object for social networking?

A. Task

B. Project Number
C. Task Number
D. Creation Date
E. Project

Answer: BC

NEW QUESTION 7
As part of maintaining (importing new employees that were added last week) project enterprise labor resources in your organization, you submit the Maintain
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Project Enterprise Labor Resources process to create and update resources based on changes In HCM. You define maintenance conditions on the Manage
Project Enterprise Labor Resource page to process both employees and contingent workers.
Which three are parameters that are based on which the system identifies the new resources?

A. Department
B. Project Unit
C. Jobs

D. Business Unit
E. Organization

Answer: CDE

NEW QUESTION 8
Which two statements describe how the Resource Qualification Score is calculated?

A. An individual's score is 100% if the resource request has a qualification with a specified proficiency and the resource does not have the qualification.

B. An individual's score is 100% if the resource request has a qualification, but no proficiency is specified and the resource has the qualification.

C. An individual's score is 100% if the resource request has a qualification with a specified proficiency and the resource has the qualification that meets the
specified proficiency.

D. An individual's score is 100% if the resource request has a qualification with a specified proficiency and the resource has the qualification with a proficiency that
is lower or higher than specified.

Answer: CD

NEW QUESTION 9
Your customer wants to perform billing based on the Percent Spent invoice method. Identify two setups that are required in project contracts for calculating invoice
amounts as per their requirement. (Choose two.)

A. billing events

B. bill plan

C. expenditure items
D. billing controls

E. invoice method

Answer: DE

NEW QUESTION 10

You are managing a project based on a Waterfall model. You define a project and a project plan in

Oracle Project Portfolio Management with tasks and subtasks applicable to each of the phases of the project: Initiation, Discovery, Design, Build, Test, and Deploy.
As a project manager, you want to define deliverables for your project requirements that are elucidated during the Discovery phase of your project. You now want
to understand how the inheritance between requirements, tasks, and deliverables works.

Identify the two correct statements in this respect. (Choose two.)

A. A deliverable associated with a requirement is automatically associated with the tasks created for that requirement.

B. The association of a deliverable with a task is dependent on associating a requirement with a task.

C. A deliverable associated with a requirement is not automatically associated with the tasks created for that requirement.
D. You associate a deliverable with a task independent of associating a requirement with a task.

Answer: BD

NEW QUESTION 10
After completing setups in a source environment, your customer wants to move the setup data to a target environment. Identify the two statements related to task
list scope, which you must consider before taking a decision based on the customer requirement. (Choose two.)

A. Exported setup data can be filtered by specific scope values if the business object has scope enabled for the setup data export.

B. Exported setup data cannot be filtered by specific scope values if the business object has scope enabled for the setup data export.
C. A scope value is used to assign users who can perform a task within an implementation project.

D. A task list can be segmented by a scope value and a task can be performed for each qualifying value of the selected object.

Answer: AD

Explanation: Reference:
https://docs.oracle.com/cd/E60665_01/common/OAFSM/OAFSM1166430.htm#OAFSM1166426

NEW QUESTION 12
What are three configuration items that you need to set up by using the Project Organizations functional area in Project Financial Management configurations?
(Choose three.)

A. Manage Project Unit Organizations

B. Mange Business Unit

C. Manage Project Organization Classifications
D. Mange Project Types

E. Manage Project Unit Options

Answer: BCD

Explanation: Reference:
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https://docs.oracle.com/cd/E60665 01/projectcs _gs/OAPFM/F1125343AN100B5.htm

NEW QUESTION 16

Your customer has implemented Oracle Project Portfolio Management Cloud recently and they have hired new employees for their Professions Services business.
These employees are set up in Oracle Human Capital Management Cloud, but the Project Administrators are unable to add them as resources in the Planning
Resource Breakdown Structure.

What are three conditions for new employees to show up in the list? (Choose three.)

A. Current date is before the effective date of the resource, and you did not enable the “Include people with future-dated effective start dates” option during the
search.

B. All new employees created as persons must have an active supervisor.

C. All new employees created as persons must be assigned to a department.

D. All new employees created as persons must have an active assignment.

E. All new employees created as persons must have an active project role.

Answer: ADE

NEW QUESTION 20

Your customer accounts revenue based on product class category. Because all your customer's

projects are funded by private and government institutions, they decide to classify all projects based on their funding source to accurately report on revenue in
General Ledger. Accordingly, you create a new class category “Funding Source”, and assign it to all projects. However, you notice that the accounting is still
happening based on product class category.

Identify the reason for this problem. (Choose the best answer.)

A. Funding source class category is assigned to all project types.

B. Funding source class category is not enabled for “available as accounting source”.
C. Product class category is not enabled for “available as accounting source”.

D. Funding source class category is enabled for “available as accounting source”.

Answer: C

NEW QUESTION 24
Your customer has separate organizations to maintain indirect, capital, and billing types of projects. Identify the two setups that can be used to fulfill this
requirement. (Choose two.)

A. Project Type

B. Business Unit

C. Project Organization Classification

D. Organization Tree

E. Project Accounting Business Function

Answer: CD

Explanation: Reference: https://docs.oracle.com/cloud/latest/projectcs_gs/FAPFM/FAPFM1225328.htm

NEW QUESTION 28

You have a billable project for which the following details are provided:

Associated Inception-To-Date (ITD) Project Actual Cost: USD 60

Associated Project Budgeted Cost: USD 300

Contract Amount: USD 1000 Project Funded Amount: USD 750

Sum of Existing Revenue Events: USD 80

Identify the Associated Project Spent revenue that will get generated based on the preceding details. (Choose the best answer.)

A. USD 184
B. USD 120
C. USD 134
D. USD 70

Answer: C

NEW QUESTION 33

Your customer wants a team member who is assigned to a project to be able to create and submit a

forecast, but not to be able to approve the forecast. What is the default project role that you should assign to the person in the project to meet this requirement?
(Choose the best answer.)

A. Project Manager

B. Project Administrator

C. Project Application Administrator
D. Project Accountant

Answer: A

NEW QUESTION 38
Your customer wants additional project information for detailed account balance maintenance, reconciliation, and reporting. Identify the configuration in subledger
accounting that can be set up to fulfill this requirement. (Choose the best answer.)
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A. Accounting Method

B. Journal Rules

C. Supporting Reference: s
D. Accounting Rule

E. Mapping Sets

Answer: C

Explanation: Reference:
https://docs.oracle.com/cloud/latest/projectcs_gs/OAPFM/OAPFM1125357 . htm#OAPFM1125357

NEW QUESTION 40

Your customer has the following setups on the project plan type that they are using for their projects: Use Task Planned Dates as Task Assignment Dates = Yes
Automatically Roll Up Task Planned Dates = Yes

Synchronize Task Transaction Dates with Planned Dates = No With these setups in place, you perform the following actions:

1. Create a new subtask (Sub Task 1) with a start date of 15-Jun-2016 on the project that has as start date of 01-Jul-2016.

2. Create another new subtask (Sub Task 2) after the previous action is saved.

What would the correct behavior of the application be after these actions? (Choose the best answer.)

A. After the creation of Sub Task 1, Project Start Date would remain unchanged as 01-Jul-2016 andSub Task 2 would be created with 15-Jun-2016.
B. After the creation and saving of Sub Task 1, Task Start Date would be changed to 01-Jul-2016 and Sub Task 2 would be created with 01-Jul-2016.
C. After the creation of Sub Task 1, Project Start Date would be changed to 15-Jun-2016 and Sub Task 2 would be created with 15-Jun-2016.

D. Project Start Date would remain unchanged as 01-Jul-2016 for both actions but the start dates on both subtasks would remain 15-Jun-2016.

Answer: B

NEW QUESTION 45
Which application would you use to map application roles to external roles? (Choose the best
answer.)

A. Oracle Identify Manager

B. Authorization Policy Manager
C. BPM Work List

D. Security Console

Answer: B

NEW QUESTION 47
You have closed the project accounting period with a warning, but you are unable to close the
accounting period due to an error. Identify two reasons for this problem. (Choose two.)

A. The corresponding Oracle Payables Cloud accounting period has not been closed.

B. Transactions entered in an integrated Oracle Cloud Application are accounted, but not yet transferred and imported into Oracle Project Portfolio Management
Cloud.

C. Pending burden summarization items have not been processed.

D. Unaccounted transactions are not imported.

E. Unaccounted transactions have not been swept to the next period.

Answer: AE

NEW QUESTION 50
Which two privileges are assigned to the Project Plan Management duty in Security Reference:
Implementation? (Choose two.)

A. Manage Project Plan Resource Assignment
B. Transfer Project

C. View Project Progress

D. Allocate Project Expense

Answer: BC

NEW QUESTION 52
Your customer complains that their project resources do not report their time promptly, which has
resulted in incorrect reporting of project performance. What should you do to fix this problem? (Choose the best answer.)

A. Enable track missing time at project unit.

B. Enable track missing time at project type.

C. Enable track missing time at project template.
D. Enable track missing time at business unit.

Answer: D
NEW QUESTION 56
Your customer started operations and all projects in January 2015. They implemented Enterprise

Project Structure for calculating project labor demand by using the Annual option. When they view the labor demand on 15-Dec-2015, the project hierarchy viewer
shows data only for the year 2015. The client expected the demand to be shown for a year, from 15-Dec-2015 to 15-Dec-2016.
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Identify how the project hierarchy viewer displays labor demand information. (Choose the best answer.)

A. The current period start date is used for calculating labor demand for the current year.

B. The current date is used for calculating labor demand for the current year.

C. The project start date of Jan-2015 was used for calculating labor demand, and hence it calculated the demand for the year 2015.

D. The date entered by a user as a parameter when running the Update EPS job was set to 01-Jan- 2015, and hence the calculations show results for the year
2015.

Answer: D

NEW QUESTION 57

You search for resources to fulfill a project resource request but are unable to proceed after receiving

the following error message: “The search for resources cannot be completed because the project resource search index is not available. Contact your help desk.”
Identify the cause for this error message. (Choose the best answer.)

A. The index is not in the process.

B. The index has been built.

C. The index is in the process of being updated.

D. The most recent update of the index finished successfully.

Answer: A

NEW QUESTION 60

Your organization has been using project class categories and codes for reporting purposes and is set

up at the project level. You recently defined a new project type, Capital-Contract, and created new class categories named Build, Operate, and Transfer (BOT) and
Build, Transfer, and Maintain (BTM), with class codes of Yes/No. But on creation of a project, you are unable to associate these class categories and codes.
Identify two setups that are mandatory for these class categories and codes to be displayed. (Choose two.)

A. Class codes should be associated with a related set code.
B. Class categories should be assigned to business unit.

C. Class categories should be assigned to project type.

D. Class codes should be assigned to project unit.

Answer: CD

NEW QUESTION 64

Your organization has been awarded a new contract based on which you are allowed to sell:

* [tems not tracked in inventory

* Inventory items

* Services

Which contract structure would fulfill your requirement of item sales? (Choose the best answer.)

A. Create two contract lines with a line type each of “free-form, project-based buy agreement” and “bundle sell, project-based”.

B. Create two contract lines with a line type each of “sell intent, free-form, project-based” and “sell intent, item, project-based”.

C. Create two contract lines with a line type each of “product, project-based, sell agreement, standalone” and “sell intent, item, project-based”.
D. Create two contract lines with a line type each of “sell intent, item, project-based’ and “subscription, project-based, sell”.

Answer: B

NEW QUESTION 69

Using Oracle Time and Labor, your client wants to put in a validation process that allows only a

certain number of maximum hours an employee can charge in a day, and a minimum of hours he or she can report in a week.
What feature would you use to meet this requirement? (Choose the best answer.)

A. project time validation rules
B. time calculation rules

C. time entry rules

D. time audit rules

Answer: C

NEW QUESTION 74

Your customer wants to automatically allocate unassigned asset lines and common costs across

multiple assets based on the construction-in-process cost of each asset. Identify the asset allocation method that you must use as the default method while
configuring project types to meet this

requirement. (Choose the best answer.)

A. Standard Unit Cost
B. Actual Unit

C. Current Cost

D. Estimated Cost

E. Spread Evenly

Answer: C

NEW QUESTION 75
You are trying to create a project purchase order (PO) but you are unable to select Expenditure
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Organization in the PO. Identify two reasons for this problem. (Choose two.)

A. The organization is not classified as a project-owning organization.

B. The organization is not classified as a project expenditure organization.

C. The organization is not included in the organization tree that is assigned to the business unit that owns the PO.
D. The organization is classified as a project unit.

Answer: BC

NEW QUESTION 78

Your business user has created a purchase order (PO) that has the following attributes:

Accrue at Receipt = Yes Matching Option = 2 way Receipt Close Tolerance = 100%

After approval, the PO is closed for receiving without creating a receipt. An AP invoice is created by matching to the PO. The user now runs Create Accounting for
Receiving Transactions and then the “Import and Process Cost transactions” ESS (Enterprise Scheduler Service) job using the Transaction Source parameter as
“Oracle Payables”. The user notices that there is no cost transferred to the projects. Identify two reasons for this problem. (Choose two.)

A. When you have an AP invoice that is matched against a PO with Accrue at Receipt set to NO, cost is transferred to projects by receipt accounting.

B. When you have an AP invoice that is matched against a PO with Accrue at Receipt set to YES, cost is transferred to projects by Cost Management and not by
Payables.

C. When you have an AP invoice that is matched against a PO with Accrue at Receipt set to Yes, cost is transferred to projects only if there are accounted receipt
lines.

D. When you have an AP invoice that is matched against a PO with Accrue at Receipt set to Yes, cost is transferred to project by payables.

Answer: AC

NEW QUESTION 80
Identify three correct statements about the integration of Primavera P6 Enterprise Project Portfolio
Management and Oracle Project Portfolio Management Cloud. (Choose three.)

A. Event completion flows from Primavera P6 Enterprise Project Portfolio Management to Oracle Project Portfolio Management Cloud.

B. Billing events flow from Primavera P6 Enterprise Project Portfolio Management to Oracle Project Portfolio Management Cloud.

C. Summarized actual quantity and cost flow from Oracle Project Portfolio Management Cloud to Primavera P6 Enterprise Project Portfolio Management.
D. Projects and task definitions flow from Oracle Project Portfolio Management Cloud to Primavera P6 Enterprise Project Portfolio Management.

E. Project plans and progress flow from Oracle Project Portfolio Management Cloud to Primavera P6 Enterprise Project Portfolio Management.

Answer: CDE

NEW QUESTION 84

You have projects and tasks defined with transaction controls, which does not allow certain types of

charges to the project. Your business needs to create invoices in AP with this project every period and hence would like to make the process easier by creating a
distribution set. As you create the distribution set, you notice that these distribution set lines are not validated against the project transaction controls and you are
allowed to save it without any validation errors.

Identify the reason why the project transaction controls are not applied. (Choose the best answer.)

A. There is no expenditure type information available on the distribution set line.

B. There is no expenditure organization information available on the distribution set line.
C. There is no expenditure item date information available on the distribution set line.

D. The account code combination is not available on the distribution set line.

Answer: A

NEW QUESTION 88

You are implementing Project Portfolio Management (PPM) for a professional services firm. The firm

rents multiple buildings for its operations. At the end of each month, they review the rent expense for the month and want to allocate the rental cost to all the
projects and tasks that are executed by associates in each of the buildings. The source amounts must be proportionally allocated to the tasks based on the raw
costs of the tasks from the previous month.

Considering that all these costs are in General Ledger, what three allocation setups should you complete in PPM? (Choose three.)

A. Allocate rental costs once each accounting period by using the “full” allocation method.

B. Allocate to all eligible tasks and prorate the allocation by the total actual raw cost accrued for each task during the previous accounting period.
C. Define allocation basis by using Actual Amounts with a project-to-date amount class.

D. Define allocation basis by using Actual Amounts with a period-to-date amount class.

E. Allocate rental costs once each accounting period by using the “spread evenly” allocation method.

Answer: ADE

NEW QUESTION 89

Your customer has different accounting and project accounting periods, and sometimes enters

invoices with an invoice date in the open project accounting and closed accounting periods. Which two statements are true about how project accounting and
accounting dates will be populated in such invoices? (Choose two.)

A. Accounting date is the same as the original invoice date.

B. Project accounting date is the same as the original invoice date.

C. Project accounting date is the first day of the first open project accounting period.
D. Project accounting date is the last day of the open project accounting period.

E. Accounting date is the first day of the first open accounting period.

Answer: CE
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NEW QUESTION 93
You have defined two expenditure types but they are not available for selection when you enter an
expenditure batch. Identify the reason for this problem. (Choose the best answer.)

A. The two expenditure types are not assigned to the reference data set that is assigned to the project unit in which the transaction is performed.

B. The two expenditure types are not assigned to the reference data set that is assigned to the project-owning organization in which the transaction is performed.
C. The two expenditure types are not assigned to the reference data set that is assigned to the project expenditure organization in which the transaction is
performed.

D. The two expenditure types are not assigned to the reference data set that is assigned to the business unit in which the transaction is performed.

Answer: C

NEW QUESTION 97
You create a project schedule with a Shifts element. Identify two more elements that can be part of a project schedule. (Choose two.)

A. Exceptions

B. Accounting Calendar
C. Workday Patterns

D. Time Off

E. Expenditure Type

Answer: AC

Explanation: Reference:
https://docs.oracle.com/cloud/latest/projectcs_gs/FAPFM/FAPFM1192914.htm

NEW QUESTION 100
Which two statements are true about a project in “Draft” status? (Choose two.)

A. Project managers can view draft projects on the Project Manager Dashboard and use the projectsfor requirements planning.

B. Project managers can neither view draft projects on the Project Manager Dashboard nor use the projects for requirements planning.
C. Team members can see the tasks from draft projects on the Team Member Dashboard or in the My Work work area.

D. Team members cannot see the tasks from draft projects on the Team Member Dashboard or in the My Work work area.

Answer: AD

NEW QUESTION 104

Your client has implemented Oracle Cloud Applications with their United States business unit and United Kingdom business unit. After six months, they acquired
another company in China and added a China business unit. A project accountant in your organization is authorized to access transactions for the US, UK, and
China business units. The project accountant can see the transactions for the US and UK business units but not for the China business unit.

Why is he not able to see the transactions for the China business unit? (Choose the best answer.)

A. The application role relevant to the China business unit is not assigned to the project accountant.

B. The project accountant is not assigned to the external role that grants access to the China business unit.
C. The US and UK business units are linked to different ledgers than the China business unit.

D. The China business unit is associated with a different legal entity than the US and UK business units.

Answer: D

NEW QUESTION 106
Select two correct statements about project classifications on a template. (Choose two.)

A. Set Code is not required for a project class category in a project classification.

B. Project Classification is a mandatory field on a project template.

C. When a project is created from a template, the required project classifications must be entered.
D. Project class category in a project classification must be associated with a Set Code.

Answer: AC

NEW QUESTION 110
Identify two correct role templates available on the Oracle Entitlement Server to generate roles for
Project Organization Security. (Choose two.)

A. Project Manager Template for Project Organization Security

B. Project Administrator Template for Project Organization Security

C. Project Creator Template for Project Organization Security

D. Project Accountant Template for Project Organization Security

E. Project Billing Specialist Template for Project Organization Security

Answer: AD

Explanation: Reference:
https://docs.oracle.com/cloud/latest/common/FASER/FASER2406048.htm#FASER2406048
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NEW QUESTION 113
You want to create a few project roles so as to restrict access in the Project Financial Management work area to only the specific projects in which an employee is
assigned as a team member. What are the two default project roles available to meet this requirement? (Choose two.)

A. Project Executive

B. Project Accountant

C. Project Manager

D. Project Billing Specialist
E. Project Team Member

Answer: BD

NEW QUESTION 114
Identify the precedence order in which cost rates are determined for a planning resource when
deriving raw costs for rate-based planning resources. (Choose the best answer.)

A. Override rate > Job rate schedule > Resource class rate schedule > Person rate schedule
B. Person rate schedule > Job rate schedule > Resource class rate schedule > Override rate
C. Job rate schedule > Resource class rate schedule > Override rate > Person rate schedule
D. Override rate > Person rate schedule > Job rate schedule > Resource class rate schedule
E. Resource class rate schedule > Override rate > Job rate schedule > Person rate schedule

Answer: D

Explanation: Reference:
https://fusionhelp.oracle.com/helpPortal/topic/Topicld_P_8718794B26A7BB93E040D30A688149A3

NEW QUESTION 118

Your client is involved in automation control systems installation. Over the years, they have analyzed their total project spend on specific resource classes. They
have identified that their cost spread distribution factor on a 10 spread point scale resembles: 0-4-10-11-14-13-10-4-0-0.

Identify two ways to handle this kind of a spread on their budgets and forecasts. (Choose two.)

A. Create a new spread curve or edit an existing spread curve to exactly match the spread points and attach to a project template.
B. Create a new spread curve or edit an existing spread curve to exactly match the spread points and attach to the resource class.
C. Use the predefined Bell Curve spread with small deviations on the spread points.

D. Use the predefined S-Curve spread with small deviations on the spread points.

Answer: BC

NEW QUESTION 119

While opening an organization tree on the Manage Organization Trees page, you notice that the
hierarchy status is displayed as Inactive.

Identify the two reasons for the organization tree to be in Inactive status. (Choose two.)

A. You used Create Tree in the action menu.

B. You used Create Tree Version in the action menu.
C. You used View Tree Version in the action menu.

D. You selected the Edit icon for opening the hierarchy.
E. You opened the hierarchy by clicking the name.

Answer: AD

NEW QUESTION 120

As you go through the first-quarter close for your customer, you notice that the burden amounts calculated do not seem to be right. Based on the calculations, you
notice that the amounts calculated are not considering the burden schedule override at a task level, which was done during the second month of the quarter.
Identify the reason for this problem. (Choose the best answer.)

A. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier cannot be reprocessed.

B. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier can be manually marked for reprocessing.
C. You can enable automatic reprocessing of expenditure items processed before the burden schedule change.

D. All expenditure items charged to the task use the new burden schedule.

Answer: B

Explanation: Reference:
https://docs.oracle.com/cloud/r13_updatel7b/projectcs_gs/OAPJC/OAPJC1071490.htm#OAPJC1071 482

NEW QUESTION 122
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